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Lppy EUbpghw = ......1192 Q.............. [2]

(i)  Cwndhsh ogunwluwn gnponnnipjwl gnpdwyhgp:

044 = (140/192 ) *100% = 73%
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Ogunwgnpoywd Jwulwghunwwl pwnbph pwnwpuwl

2wybpbu NnLubpbl Ulgtptu
huunnteintl MNOTHOCTb density
wlnpwnwpancd OoTpaxeHne reflection
pbynid npenomaeHve refraction
Gpyuwybwywl wihp NpoAO/ibHas BOIHa longitudinal wave
wihp BOJIHA wave
hwéwhunipnLl yactoTta frequency
hwdwubn O HOPOAHbIN homogeneous
GpywpnipjnLu ANVHa length
aUuonid JlaBaeHne pressure
obpdwuwnhbwl TemnepaTtypa temperature
ElGYunpwlwl onpw 3NeKTpuYeckas Lenb electric circuit
nhdwnpnpnLl COMPOTMBAEHNE resistance/resistor
Eubpghw 3Heprus energy
dwlpnipjwl YUuwnpnl LLEHTP TAXECTH center of mass
wpnyntbwybunniejnil/ogqg 3QdEKTUBHOCTL/KNA efficiency

hwenpnwlwl Jhwgned

nocseaoBarte/ibHoOE COeIMHEHME

connection in series

hnuwlph wnpjnip

NCTOYHWK TOKa

power supply

yniGywnp KONNeKTop commutator
ElGyunpwowndhs 31IEKTPOMOTOP electric motor
qulawd macca mass

Yohn BeC weight

snpunL 6pycok brick
w2huwunwlp paboTa work
hGnwynpniejnLu paccToaHne distance
dwdwlwy BpEMS time
dpUninpuwihl 6Uonud aTMOChepHoOe JaBfeHue atmospheric pressure
wpwagntpjntl CKOPOCTb speed/velocity
Jhonty A4pO0 nucleus
hwuwnwwnntl NOCTOAHHbIN constant
Jwybplnyp MOBEPXHOCTb surface
wquwwn wuydwl wpwgwgnid yckopeHue csoboaHoro nageHuns | free fall constant
n.d cuna force

hdwntu MMMy bC momentum
(wpnid HanpsaxeHue voltage
hnuwlp TOK current
hgnpntejnLl MOLLHOCTb power

Gnnud KnneHwme boiling
gninp2hwgnid ncnapexve evaporation

otpdwjhl Eubtpghw

TEMNOBAA SHEPTUNA

thermal energy

ongbignjugduwl inGuwywpwn
stipdnipinLl

yAenbHas TenaoTa ucnapeHuns/
napoobpa3oBaHus

evaporation latent heat
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